
petal_length <= 2.45
gini = 0.666
samples = 94

value = [49, 53, 48]
class = l

gini = 0.0
samples = 28

value = [49, 0, 0]
class = c

True

petal_length <= 4.95
gini = 0.499
samples = 66

value = [0, 53, 48]
class = l

False

petal_width <= 1.65
gini = 0.131
samples = 35

value = [0, 53, 4]
class = l

gini = 0.0
samples = 31

value = [0, 0, 44]
class = a

gini = 0.0
samples = 31

value = [0, 52, 0]
class = l

sepal_width <= 3.0
gini = 0.32
samples = 4

value = [0, 1, 4]
class = a

gini = 0.0
samples = 3

value = [0, 0, 4]
class = a

gini = 0.0
samples = 1

value = [0, 1, 0]
class = l


